Solution — Calcul de Dérivées Trigonométriques - s1599

Calculer les dérivées des fonctions suivantes :
a) fix)= x%.cos x

2
u=x = u'=2x

=uv = ff=uv+tuw' avec{ . .
/ A y=cosx = v =-sinx

£(x) = 2x.cos x — x°.sin x = x(2c0s x — x.sin x) .

b) g(x) =x.sin’x

u=x => u'=1

=uv = g'=uv+uv' avec { . . . .
g g v=(sinx)’> = v'= 2sin x(sin x)’ = 2sin x.cos x

g'(x) = sin® x + 2x.sin x.cos x = sin x(sin x + 2x.cos x) .

¢) h(x) = (x.tan x)’

u=x => u'=1
h=U* = h'=20U" et U=uv avec

1
v=tanx = v'=1+tan’x = >
cos”™ x

h'(x) = 2x.tan x(x.tan x)’ = 2x.tan x[1.tan x + x(1 + tan®x)] = 2x.tan x(x + x.tan” x + tan x) .



